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1. b. Digital transformation requires investments in skills and infrastructure.
2. c. The digital economy accounted for 6.9 percent of the US GDP in 2017.
3. a. The digital economy will create lots of new jobs.

4. a. In recent years, many companies have been replacing employees with contract
workers.

5. a. How should digital transformation be implemented?

6. b. Training in the digital economy cannot come from education alone.
7. c. Public policies must encourage training throughout life.

8. c. Some workers will not be able to adapt.

9. b. The digital revolution is seen as an opportunity to create new jobs.

10. a. Have transaction costs been lowered by digital technology?
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